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Instructions :

1] There are in all nine questions in
this question paper.
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W All questions are compulsory.

w In the beginning of cach
question, the number of parts

10 be attempled are clearly
mentoned.

W) Marks allotted to the qucstions
are indicated against them

Vi Start solhing from the first
question and procecd to solve 1))

the last one.

Do not waste vour ume aver

sl
quEsLion You cannot solve,

3

TR A=ia.b!. B=123;,C=13,7) =

A (BUC) ® = = @fm

3) ::w?""-rq

an6-tan20-y3tand tan20=y3
l

wsin~! x.

) hz ﬁm f= cosec™! (l]
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A= 2;-y.¢.za5 i; m wl.
"% sum e wifm )
O Tem Saia5d Bl e

T 3w wa ¥ia

9)

|
*eg

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

3 324(FH) 324{FH)

4

1. Attempt all parts of the following - 34 -1 2 1
a) Il A={a,b}, B~12,3),C={3.7! o) uﬁa‘{-g’ ﬂm B"[ 12 3]
then find As(BUC). I
b) Solve: Ae®Pm (A-B)' =A"-B'. 1
tan0+tan20+y3 tan0 tan20 =3 . %) & P{A)=0-:12, P(B]=0-15 3R
i PIB/A)=0-18 M e Hﬂfm
c) Prove that coscc"(-i-)-sm" x. P1A N B) 1
d) Find the dirtc\@% G\ e 2 Attempt n!lpana:uhp following :
nmltﬂﬂ‘@nne Ax-Yy+2z=5. a) Evaluate | -¢ E g. 1
\QQ)' 1 -b -a O

. Q

¢} Find l@nﬂt between the vectors
- ! A A = A A A
a=i+j-kand bei-j +k. 1

<)
u@mmmmmum;
®) = s om R

bl

0 ¢ b
-¢ 0 al. ’ 1 d)
-b -a O
7)) frg wifm mn't(%)-tan"[%]. !
n) di’ y-acos’2 M y=asin’ 2t ? “l
|
Y wa @, !
da
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If x=acos* 2t and

y=asin’ 2 then find .:_!i 1

x
A 3; 4 1 2 1
Bl - 2 - -
0 2 and B [ 1 2 3]
then show thap (A-B)' =A'-B'.
|
Ir PlA). o 12, P(H)=0 15 and
PBYA) -0 14 then find

the
value of PIA () g
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g @t f&F ot A B

g:B—C T&® X M gof:A »C W

T ¥ 2
oz X=8iny o fae Hﬂhlz
2
(1-x 11-3-:9;'-' 2
dx ax

| [fix)=Ix]; x = 0 W NaHSAATG
t> 2
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Attempt all parts of the following :

Prove that if J:A- 8 and

g:8-+Care one-to-one then

gof : A -+ Cis alno onc-to-one. ?
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c)

d)

6

if x=siny. then provce that

-‘ l
— = ) —— 2
(1-x ]dxz de

Is fix)=| x |differentiable at x=0?

2

The probability of A to win the race

1S Jland that of B to win the race

1S E Find the probability that in

thus race neither A nor B wins the
race. 2
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fix)=3x-4, xcQ @rfEAa ¥ an

fAg #ifm f& 1 ¥ wrBTE o= &
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q) BT ax=2i43 +2k F A
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N TF [ A 4 [T N 2 w0 MR R A b} Find the projection of vector
!{Fi & 1 3 R s s & TR .n.=2‘;+3;+2;: on the vector

oz v o9 § T TR e A At

TH R &t FH @ wiesm A
Hifm 2

) mq]iﬂlﬂ@'hnﬁm

A

o A
E. 1+2)+ k. 2
c} There are 4 white and_ 2 black

balls in a bag and in another bag

cos’(xe 1O 3 white and 5 black balls. Find the
T K \Qf&\% 2 probability of getting both black
Q
1) ~§ot(ex )+¢c balls if a ball is drawn from cach
) tan(xe*)+c bag. 9
i) tan(e")+c e’ (1+x)
. . dj ShU‘WJ 3 dx is equal
iv) cotle®)+c. cos“(xe” )
4 Attempt all parts of the following : to which of the following - 5
a) The funcuon f:Q -+Qis defined by ij cotlex” )+ c
the relation f(x)=3x-4, x<Q. ) tanie”)sc

Prove that f s one-to-one and
mj Lar f;_.’J. .t

onto mapping where Qis the sct of

1 ’
rmtional numbers. 2 G etle’ )

S,
35009 "z | Turn over vez

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

’ 324{FR)
ﬁm: '
l+sinxcosx
. .
§) TNRCi®
1 1+b 1 grlabe) (14 +p+7)
1 1 =g
S
M) WA r.(61-8)-2k)+1=0 W A
frg @ 39 M AW s A
fes HIARA A H(ATI 5
*in?X _cos?=)dx ® WA A
q) 50{5‘" > cos 2]
#) 5
%) - ®fA ¢;+31 AT (a-b) RV ITH
& onagA W& WiEA A FifAn 7K
;'?+}+Em bet42j+ 3k &1
5
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%) Zedx+y @ NEw 7R R
T FEOW F IR T BIAC
x+y<$50, Ix+y<90, x20, y20.
S
%) fmm % x=asin’t, yebeos’t &
wF feg tzgt,ﬂtwmiﬂ

mh?mms‘rhm 5

6 Attempt any five parts of the following :
a) Discuss the continuity of the
fancion f{x]={I+2 if x<1
x-2 if x>]°
b)  Differentiate y=edec? 3
erenuate y=e™ * 43c057! x4 x*
with respect to x. S
€}  Find the €quation of the curve
Passing through the point (I, -]
whose differentia) cquaton is
‘!idy
dx=I1+2Hy+2]. 5

35%9

ez

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

13 324(FH)

d) The probability of solving a
question by three students A, B, C

arc respectively %.% and %

Find the probability of solving the

question. S
¢) Find the maximum value  of
Z=4ax+y underCthe <constraints
given by x¥y<50, 3x+y<90,
x20, yx0. 5
f)  Find the equation of the tangent 1o
the curve x=asin’t, y=bcoslt at
the point where t=%. 5
Frfefaa § @ f ow Qo ® & H
x) e fafy @ Frefefga wdmo e
@ R
;+y+z-8
x-y+z-2
2x+y-z= L 8
| Turn over
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g) @ |x-5-1) [n 2 1] H=o g,
2 0 3] |1

A x ® WA A AT 8

7. Auempt any one part of the following :
a) Solve the following system of
cquations by matrix method :

x+ytz=8
r-y+ze2
2xsy-2z=|, 8
bl If [x-5-1) [Cli g 12} FJ-(}
2 0 311
then determine X. 8
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®) @mwmgcm:’;saﬁqﬁ
ﬂﬁm‘maﬁmﬁ;ﬁnﬁm
lomtﬁmﬁmmfﬂ"
Rigwmi 8
) @W%?ﬁﬁﬁﬁamﬁw
TS Wk A s
A FH e g .

35%

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

8.

15 324[FH]
Atlempt any one part of the following :

a)  The volume of a cube is increasing
at the rate of 9 cma,fs. Find the
rate by which its surface area is

increasing if the length of the edge

of the cube is 10 ¢m. 8

b)  Find the differential equation of a
family of parabolas whose vertices
are at the origin and whose
posilive axcs are in the positive

side of the x-axis. 8

9. fr=fefam ¥ & fFe ve @os # & Fifow -

. 4

x
F) J"m 451n — dx & "R 74

@ sin®x+cos” x
ife | 8
Jx

dx T A WA Fg

ﬁ) ﬂH+Jﬂ-.\’
8
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AN SR AW TF & Y I o
tan”' (v2) ¥ K) 5

5. Attempt any five parts of the following :
2/2 SiNnX-COS X dx. S

a) Evaluate .
0 l+sinxcosx

b) Show that

’hal 1 11

1 1+b | =(abc][l+-5+-5-+;}

1 l l+c

5
¢} Find the direction cosine of
orthogonal unit vector drawn from

the ongin on the plane

- A A A
r.[6!-3;-2k}+]=0. S
d) Evaluate {" sin?f- 0
| L[ > cos
¢}  Find the normal unit vector for
cach of vectors (;-rgl and {;-31
s ] A ]

where a=i4 j4 k and

b=i+2j+ 3‘;‘ 5
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fi) ~ Prove that the semi-vertical angle
of a conc with given slant height
and maximum  volume s

tan”' (v2). 5

6 Trfead ¥ A 5w W mvg & &=
HIAY :

%) fofafan o9 & s @ fEuw

wif
{x+:>,,u'r‘:xsl .
Xl=
ftx) Nx-2 qEx> 1
@) x% @y o y-e“‘z‘ +3cos™ x+x*
' & FaFed HIAC | 5
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9 Attempt any one part of the fol
®/2 sin? x

valualte 4
a) E 0 gin* x+cos x

o__Jx dx
b) Evaluate Lm '
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